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FRACTIONS

All Questions

1
1. Mrs. Sharma has 24 apples. She uses 1 of

them. How many apples does she use? How


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FgukMbKYH2J5

many does she have left?

o Watch Video Solution

2. Yashi has a packet of 20 biscuits. She gives
1

3 of them to Yana and 1 of them to Jaya. The

real she keeps. How many biscuits does Yana

get? How many biscuits does Jaya get? How

many biscuits does Yashi keep?

o Watch Video Solution



https://dl.doubtnut.com/l/_FgukMbKYH2J5
https://dl.doubtnut.com/l/_LnSO0YFyMW6E

3. What fraction of a day is 8 hours ?

o Watch Video Solution

4. Determine 3 of a collection of 9 kites.

o Watch Video Solution

5. What fraction of an hour is 20 minutes?

o Watch Video Solution



https://dl.doubtnut.com/l/_QhHbNrkvKGMS
https://dl.doubtnut.com/l/_6pDGrp41IBtJ
https://dl.doubtnut.com/l/_oP2Yx6EEd0z3

6. Write the natural numbers from 2 to 12.

What fraction of them are prime numbers?

° Watch Video Solution

7. Write the natural numbers from 102 to 113.

What fraction of them are prime numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_MWhtwQWOaPtJ
https://dl.doubtnut.com/l/_ar8lP5nSXNwg

8. Mukesh has a box of 24 pencils. He give half
of them to Sunita. How many does Sunita get?

How many does Mukesh still have?

o Watch Video Solution

9. Kavita has 44 cassettes. She gives 1 of

them to Sonia. How many does Sonia get? How

many does Kavita keep?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZNDZcr7yLF6o
https://dl.doubtnut.com/l/_HyRCo0qC3Nho
https://dl.doubtnut.com/l/_3iHXyYKx1KTS

10. Shikhas has three frocks that she wear
when playing. The material is good, but the
colours are faded. Her mother buys some blue
dye and uses it on two of the frocks. What
fraction of all of the Shikha play frocks did her

mother dye?

° Watch Video Solution

11. Represent 5 on a number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_3iHXyYKx1KTS
https://dl.doubtnut.com/l/_9cT7kKG9smym

2. R ; 0 1 5 le
. Represent -0, -0, Jpand—5 on a

number line.

o Watch Video Solution

2 5 6 ,
13.Represent —, — and — on a number line.

7T 7

o Watch Video Solution

14. How many fractions lie between 0 and 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_MW3qDLVX2peI
https://dl.doubtnut.com/l/_F4oYswiAiyqn
https://dl.doubtnut.com/l/_tfTTW9blmAGw

0 8
15. Represent gandg on a number line.

o Watch Video Solution

16. Write each of the following divisions as
fractions: (i)6 < 3 (ii) 25 < 5 (iii) 125 < 50 (iv)

55 + 11

o Watch Video Solution



https://dl.doubtnut.com/l/_tfTTW9blmAGw
https://dl.doubtnut.com/l/_utgowrtesQpc
https://dl.doubtnut.com/l/_7CbXoeuYCTF3

17. Write each of the following fractions as

divisions: 2 i 2 iy 20 iy 1
Ivisions: 7 1 11 11 63 v 5

° Watch Video Solution

18. Express each of the following mixed

5
fractions as improper fractions: 37 (i) 45 (i)
5 2
5

° Watch Video Solution



https://dl.doubtnut.com/l/_Lg7GXoZlyeFv
https://dl.doubtnut.com/l/_NAG8XK7E1AVj

19. Express each of the following as mixed

tractions: 7 iy 2 iy 28
ractions: 1 I 5 i ?

° Watch Video Solution

20. Convert each of the following into a mixed

28 226 128
fraction: — (ii) — (iii) Lﬁ (iv) —
9 15 9 5

o Watch Video Solution



https://dl.doubtnut.com/l/_cjr4SW8HDKW2
https://dl.doubtnut.com/l/_asnhQtNKmKmS

21. Convert each of the following into an

: . r .95 ... _3

improper fraction: 7Z (i) 87 (iii) 5E (iv)
7

275

o Watch Video Solution

22. Replace () in each of the following by the

3 ()
= =355

2 8
correct number — = —
T ()

o Watch Video Solution



https://dl.doubtnut.com/l/_bmCMwkYgyJrQ
https://dl.doubtnut.com/l/_GaBv9cGa6W6T

L‘-'
23. Find the equivalent fraction of LIII"“\frac{3}{5}

©

Watch Video Solution

24. Replace ( ) in each of the following by the

3 2 8
correct number: — = Q (i) = = —

520 7 ()

° Watch Video Solution



https://dl.doubtnut.com/l/_o1SP7UJlWWAb
https://dl.doubtnut.com/l/_cfrk9KKV8rpr

25. Check whether the given fractions are

equivalent : (a) l""';’l\frac{5}{9},\frac{{3 O}}{{54}}°

Watch Video Solution

26. Replace ( ) in each of the following by the

2 6 ... 5 0 .
correct number: — = — (ii) = = — (iii)

[ 5 ()
4 ()4 15 18 ()

V91 = 72

5 20 60 ()

° Watch Video Solution



https://dl.doubtnut.com/l/_xF9Aw6NLVUSG
https://dl.doubtnut.com/l/_MEq0f4eUSRk5

27. Find the equivalent fraction of 5 having

numerator 9 (ii) denominator 30 numerator 21

(iv) denominator 40

° Watch Video Solution

28. Find the fraction equivalent to 0’ having:

numerator 15 (ii) denominator 4 denominator

240 (iv) numerator 135

° Watch Video Solution



https://dl.doubtnut.com/l/_vw0tSHxjSqsi
https://dl.doubtnut.com/l/_RjnTyXWuQmDK
https://dl.doubtnut.com/l/_t9Tg9TWAenuo

35
29. Find the fraction equivalent of yoR having:

numerator 15 (ii) denominator 18 denominator

30 (iv) numerator 30

° Watch Video Solution

30. Check whether the given fractions are

valents 530 2 16 L7 5
equivalent: 9 Ed i = 1 i 3 11 iv
4 32 V) 3 12 (vi) 9 25
11° 88 10’ 50 277 75

° Watch Video Solution



https://dl.doubtnut.com/l/_t9Tg9TWAenuo
https://dl.doubtnut.com/l/_xRIzbVm0I1CL
https://dl.doubtnut.com/l/_FA1Nu87sNfDM

31. Match the equivalent fractions and write

250 180 660 180 220
400 200 990 360 550

another 2 for each:

o Watch Video Solution

32. Write some equivalent fractions which

contain all digits from 1to 9 once only.

° Watch Video Solution

33. Ramesh had 20 pencils, Sheelu had 50 pencils

and Jamaal had 80 pencils. After 4 months,


https://dl.doubtnut.com/l/_FA1Nu87sNfDM
https://dl.doubtnut.com/l/_1BwPpL5OHfTQ
https://dl.doubtnut.com/l/_6C4clZfEJuSd

Ramesh used up 10 pencils, Sheelu used up 25
pencils and Jamaal used up 40 pencils. What
fraction did each use up? Check if each has used

up an equal fraction

° Watch Video Solution

34. Reduce each of the following fractions to its

48 .= 126

lowest term: I (ii) 90

o Watch Video Solution



https://dl.doubtnut.com/l/_6C4clZfEJuSd
https://dl.doubtnut.com/l/_mzPVoK3VA7bE

35I169"t' lest form?
-Is S2g I its simplest form:

° Watch Video Solution

36. Reduce each of the following fractions to its

40 42 12
| : : .. .
owest terms (simplest form) - (i1) 53 (iii) =5

o Watch Video Solution

37. Reduce each of the following fractions to its

40 80 84
| tt implest f : I i) —
owest terms (simplest form) = (i) 51 (i) G

f ) |


https://dl.doubtnut.com/l/_Jcqs38pKhGMx
https://dl.doubtnut.com/l/_vxuT5lLk050r
https://dl.doubtnut.com/l/_Ow9dZzAJcgrh

° Watch Video Solution

38. Simplify each of the following to its lowest

7 52 &4
term: — (ii) — (iii)) —

80 76 98

° Watch Video Solution

39. Simplify each of the following to its lowest

erm: 88 iy 150 . 162
erm: 17 1 50 Il 108

o Watch Video Solution



https://dl.doubtnut.com/l/_Ow9dZzAJcgrh
https://dl.doubtnut.com/l/_SKOx6ZWaWRco
https://dl.doubtnut.com/l/_AFSvLPLCfVRS
https://dl.doubtnut.com/l/_nzsK0PFCHtXi

3 5

e b 2,
40. which is larger 1 13

o Watch Video Solution

41. Arrange the following fractions

" q 5 9 7 3
ascending or er8, 6 1T

1n

° Watch Video Solution

5
42. Compare % and 5

° Watch Video Solution



https://dl.doubtnut.com/l/_nzsK0PFCHtXi
https://dl.doubtnut.com/l/_L0QAg8c1qblI
https://dl.doubtnut.com/l/_j6T38heIMNMv

43. Rafiq exercised for |:‘:}\frac{3}{6}

° Watch Video Solution

44, Arrange the following fractions in

descending order —, —, —, =, —

o Watch Video Solution



https://dl.doubtnut.com/l/_j6T38heIMNMv
https://dl.doubtnut.com/l/_GnHEprkP0PFl
https://dl.doubtnut.com/l/_A3Y18zYrqZOX

45, In a class A of 25 students, 20 passed in first
class; in another class B of 30 students, 24
passed in first class. In which class was a greater

fraction of students getting first class?

o Watch Video Solution

46. Write each fraction. Arrange them in

ascending and descending order using correct

3 1 4 2 2

sign (, = >(')5 B 5()3

o Watch Video Solution



https://dl.doubtnut.com/l/_86OKb9RremC3
https://dl.doubtnut.com/l/_8qk7jppkx6lc

2 4 8 6 :
47. Mark —, —, — and — on the number line
6 6" 6 6

and put appropriate signs between fractions

given below:

o Watch Video Solution

48. Compare the following fractions and put an

e 3 (i) 3 (i) 1 (i) 8
d ropriate siegn. — «i1) — (i) — «\\v) —
PProp &N 5 " 50 " 66 " 65

° Watch Video Solution



https://dl.doubtnut.com/l/_8qk7jppkx6lc
https://dl.doubtnut.com/l/_haNUO1j1JzK7
https://dl.doubtnut.com/l/_5mQrPJfrFeSW
https://dl.doubtnut.com/l/_5TYivng5SwUK

49, Compare the following fractions and put an

appropriate sign:

Watch Video Solution

O

50. Compare the following fractions using the

bol > <'6d6(")3d5
symbo or + wandor (i) —and -

2 8 . 1 4
g and E (IV) gand1—5

| = |


https://dl.doubtnut.com/l/_5TYivng5SwUK
https://dl.doubtnut.com/l/_glUYuFaja8HL

I 0 Watch Video Solution I

51. Compare the following fractions using the

8 .. 4 15
symbol > or < : gandﬁ (ii) gand 5

o Watch Video Solution

52. The following fractions represent just three
different numbers. Separate them into three

groups of equivalent fractions, by changing each

one to its simplest form. (a) LIIII:‘]\frac{Z}{{12}}°

Watch Video Solution


https://dl.doubtnut.com/l/_glUYuFaja8HL
https://dl.doubtnut.com/l/_c23cAJFdagMG
https://dl.doubtnut.com/l/_L7ajDsERbGjj

53. The following fractions represent just three
different numbers. Separate them in to three

groups of equal fractions by changing each one

(o its simotest form 2 i 22 iy 2 iy &
O Its simplest rorm: 75 1 72 11 ]__8 v %

o Watch Video Solution

54. Isha read 25 pages of a book containing 100
pages. Nagma read 3 of the same book. Who

read less?

o Watch Video Solution



https://dl.doubtnut.com/l/_L7ajDsERbGjj
https://dl.doubtnut.com/l/_MnsjvthcggFl
https://dl.doubtnut.com/l/_jzuM0oGx7Ro4

55. Arrange the following fractions in the

, 2 73 41 6 5 .
ascending order: —, —, —, —, —, —, — (il
9°9°"9°"9° " 9°"9° 9
7 T 77
825 117 187 10

° Watch Video Solution

56. Arrange in descending order in each of the

8 8 8 8
17797 57 13
5 3 1 4 .2 11 9 13

9’12’7 3’ 15( 7’357 14’7 28

following using the symbol > :

o Watch Video Solution



https://dl.doubtnut.com/l/_jzuM0oGx7Ro4
https://dl.doubtnut.com/l/_gnDaGAbUiYQq
https://dl.doubtnut.com/l/_6oOo2hg1ZWC4

57. Find answers to the following. Write and

indicate how you solved them. (a) | "\frac{S}{9}

©

Watch Video Solution

58. Find answers to the following. Write and

indicate how you solved them. Is 5 equal to

16?(,) 1 't 4
50 I 15 equal to — 30 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6oOo2hg1ZWC4
https://dl.doubtnut.com/l/_EKKn6dV5iPLm
https://dl.doubtnut.com/l/_pXntGBBXl0mr
https://dl.doubtnut.com/l/_cU1TIvClSHGh

1 4
59. Add the following fractions: 8 + 5 (i)

2+3+4
T T 7

o Watch Video Solution

3 2
60. Add the following fractions: 23 + % + 13

(")11 23 71
Wizt gty

o Watch Video Solution

3 8
61. Subtract — F'rom—
10 10

r. |


https://dl.doubtnut.com/l/_cU1TIvClSHGh
https://dl.doubtnut.com/l/_wOnOhIdIKDI3
https://dl.doubtnut.com/l/_A65Wtmg1vDAG

7 11

5
62. Compute: 5 T2 + 15

° Watch Video Solution

63. Simpli -42—|—1 41
. Simplify : 5 T3 3

° Watch Video Solution

1

5
64.SO|VG: E + E

| 8


https://dl.doubtnut.com/l/_A65Wtmg1vDAG
https://dl.doubtnut.com/l/_Juja7QtRxhZG
https://dl.doubtnut.com/l/_3wdNwryk9i2I
https://dl.doubtnut.com/l/_c6bTprK5GbOH

L % Watch Video Solution

65. Sol °3+ !
-Solve: -7 B

° Watch Video Solution

66. Sol °3+7
-Solve: -5 %)

° Watch Video Solution

67. Sol 1+0
.Solve: — + -

| 8


https://dl.doubtnut.com/l/_c6bTprK5GbOH
https://dl.doubtnut.com/l/_ahdiXlfrpKJy
https://dl.doubtnut.com/l/_vzx3b3KbpPbc
https://dl.doubtnut.com/l/_ZA0DK8wBina5

L % Watch Video Solution

68. Sol 4 2 1
.ove.13+13+13

° Watch Video Solution

69. Sol 0 2 -
. ove.15+15+15

° Watch Video Solution

7 4 9
70. Solve : 30 31 + 31

| 8


https://dl.doubtnut.com/l/_ZA0DK8wBina5
https://dl.doubtnut.com/l/_tBDpnUUehrRq
https://dl.doubtnut.com/l/_WnOWaAfVq4KQ
https://dl.doubtnut.com/l/_NPo9oC382Ezx

2 1 3
71.Solve: 3— + — — 2—
7 7 7

° Watch Video Solution

72.Sol '21 12—|-41
.o0lve: § § §

° Watch Video Solution



https://dl.doubtnut.com/l/_NPo9oC382Ezx
https://dl.doubtnut.com/l/_tVFilmx3JOW7
https://dl.doubtnut.com/l/_zCmuqDy8n7u4
https://dl.doubtnut.com/l/_N1coO3SEbpky

16 5! 9
74.Solve : — — — + —
7 7 7

° Watch Video Solution

1
75. Shikha painted T of the wall space in her
room. Her brother Ravish helped and painted 5
of the wall space. How much did they paint

together? How much the room is left unpainted?

° Watch Video Solution



https://dl.doubtnut.com/l/_N1coO3SEbpky
https://dl.doubtnut.com/l/_KcB5SviNqs93
https://dl.doubtnut.com/l/_HEBFBbjoHeWP

1
76. Ramesh bought 25 kg sugar whereas Rohit

1
bought 35 kg of sugar. Find the total amount of

sugar bought by both of them.

° Watch Video Solution

3
77. The teacher taught 5 of the book, Vivek
1

revised g more on his own. How much does he

still have to revise?

° Watch Video Solution



https://dl.doubtnut.com/l/_mnYsL4lOcayz
https://dl.doubtnut.com/l/_MkIPVLROrLak
https://dl.doubtnut.com/l/_o5ONl4F7FB7B

78. Javed was given |:'rj\1‘rac{5}{7}

° Watch Video Solution

7 3
79.Fill in the missing fractions: — — () = —
Il in the missing fractions: — () 10
-~ 3 3 3 3 :
i  O-g=% O-g=5 W
5 12
O-5 =%



https://dl.doubtnut.com/l/_o5ONl4F7FB7B
https://dl.doubtnut.com/l/_UM9x66dGs74N
https://dl.doubtnut.com/l/_hDu5QaTs5rjD

| ¥ Watch Video Solution

81Add-24 d35
-Add: 2= and 3

o Watch Video Solution

82. Simpli '81 25
. Simplify: 1 5

o Watch Video Solution

: 5 5]
83. Find the sum: 9 + 6+ 17

| N


https://dl.doubtnut.com/l/_hDu5QaTs5rjD
https://dl.doubtnut.com/l/_VgCprUUNceEb
https://dl.doubtnut.com/l/_YyyCdrcrvErj
https://dl.doubtnut.com/l/_suuUecfLZlCb

| ¥ Watch Video Solution

84. Simpli '42 31—|—21
. Simplify: 3 1 5

o Watch Video Solution

85. Find the diff f 17 d 0
- Find the difference of 27 and ——

o Watch Video Solution

3 5
86. Add: Z and E



https://dl.doubtnut.com/l/_suuUecfLZlCb
https://dl.doubtnut.com/l/_MovhVzJkmVSN
https://dl.doubtnut.com/l/_w9eyns4fSzZH
https://dl.doubtnut.com/l/_aNSWrSWT1GRr

| ¥ Watch Video Solution

87. Add: 7 d 2
-Add: v and—

o Watch Video Solution

88. Add: S d2
-Add: = and <

o Watch Video Solution

4 7
89. Add: g and 1—5

| N


https://dl.doubtnut.com/l/_aNSWrSWT1GRr
https://dl.doubtnut.com/l/_qVp36ABvipPY
https://dl.doubtnut.com/l/_8lzBd9kVvvte
https://dl.doubtnut.com/l/_7lOGnQtHfYyx

| ¥ Watch Video Solution

90. Subt t2 1
- Subtract: = om o

o Watch Video Solution

91. Subt t21 18
- Subtract: o om 20

o Watch Video Solution

7 18
92. Subtract: 16 om 20

| N


https://dl.doubtnut.com/l/_7lOGnQtHfYyx
https://dl.doubtnut.com/l/_QiUP34ixssEo
https://dl.doubtnut.com/l/_EuAHivaMHNeb
https://dl.doubtnut.com/l/_wiBbzzyW3Da4

| ¥ Watch Video Solution

4 1
93. Subtract: — om 2—
15 5

o Watch Video Solution

94. Find the difference of : E and l

24 16

o Watch Video Solution

: : 5 4
95. Find the difference of : 18 and 5

| &


https://dl.doubtnut.com/l/_wiBbzzyW3Da4
https://dl.doubtnut.com/l/_bubt6l6IvEoC
https://dl.doubtnut.com/l/_Tv4qKbjZKJNx
https://dl.doubtnut.com/l/_lBbQzaNfR7Gr

| ' Watch Video Solution

: : 1 3
96. Find the difference of : I and 1

o Watch Video Solution

2 6
97. Find the difference of : 3 and -

o Watch Video Solution

8 5
98. Subtract as indicated: 39

| &


https://dl.doubtnut.com/l/_lBbQzaNfR7Gr
https://dl.doubtnut.com/l/_8TMVIQEZ4QrZ
https://dl.doubtnut.com/l/_FmLE2icqzhvN
https://dl.doubtnut.com/l/_klfTTMmziT0m

| ' Watch Video Solution

2 1
99. Subtract as indicated: 43 — 23

o Watch Video Solution

§ 2
100. Subtract as indicated: 57 — 2§

o Watch Video Solution

3 1
101. Subtract as indicated: 4Z — ZE

| &


https://dl.doubtnut.com/l/_klfTTMmziT0m
https://dl.doubtnut.com/l/_cQYZxNQfZ04D
https://dl.doubtnut.com/l/_Yr63WWKobDLc
https://dl.doubtnut.com/l/_2u7NRSwomCcS

| ' Watch Video Solution

. 2 3 1
102. Simplify: 3 + 1 + 5

° Watch Video Solution

. .. 9 2 3
103. Simplify: 3 + T + 1

° Watch Video Solution

3 7 3
104. Slmpllfy — —|— IR + B

| &


https://dl.doubtnut.com/l/_2u7NRSwomCcS
https://dl.doubtnut.com/l/_S8VK7Wka6Bmw
https://dl.doubtnut.com/l/_PYvxtmE2d9hv
https://dl.doubtnut.com/l/_qxXcEUHuwLFQ

| ' Watch Video Solution

... 3 7 5
105. Simplify: 1 - 16 + 3

° Watch Video Solution

106. Simpli °42—|—31—|—71
. Simplify: 3 1 5

° Watch Video Solution

107. Simpli °71—|—32—i—51
. Simplify: 3 3 5

| &


https://dl.doubtnut.com/l/_qxXcEUHuwLFQ
https://dl.doubtnut.com/l/_sh9le0Spbwyf
https://dl.doubtnut.com/l/_gZPitCvPG0LJ
https://dl.doubtnut.com/l/_22B8TfOf45qi

| ' Watch Video Solution

1
108. Simplify: 7 + % + 56

o Watch Video Solution

5 3
109. Simplify: 5 +3+ 1

o Watch Video Solution

5 1

110. Simplify: l + = 3 + 1ﬁ

| &


https://dl.doubtnut.com/l/_22B8TfOf45qi
https://dl.doubtnut.com/l/_FRg05n60pqrl
https://dl.doubtnut.com/l/_KYqsSkA20f5l
https://dl.doubtnut.com/l/_NgS1emAtsH9j

| ' Watch Video Solution |

11. Replace ( ) by the correct number:

O-2=300-s=55- 0=

° Watch Video Solution

112. Sarita bought |;'3\1’rac{2}{5}

° Watch Video Solution



https://dl.doubtnut.com/l/_NgS1emAtsH9j
https://dl.doubtnut.com/l/_vI4Itd7WOqOa
https://dl.doubtnut.com/l/_j3fcV45OnA8M

113. Ravish takes 23 minutes to walk across the

7
school ground. Rahul takes 1 minutes to do the

same. Who takes less time and by what fraction?

° Watch Video Solution

114. A piece of wire m\1:rac{7}{8}

° Watch Video Solution



https://dl.doubtnut.com/l/_Jm9UVNNhfQ49
https://dl.doubtnut.com/l/_TEmMnAHLlvX8

115. Asha and Samuel have bookshelves of the

same size partly filled with books. Ashas shelf is

":\frac{s}{a}c

Watch Video Solution

116. Nandinis house is l""r“\frac{9}{{10}}°

Watch Video Solution

117. Which of the following is a proper fraction?

4 3 3 1
g (b) Z (c) 12 (d) 23

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_uWo0p55icexH
https://dl.doubtnut.com/l/_h3qTQRAWlOdf
https://dl.doubtnut.com/l/_zB1sQnsUlFAk

118. Which of the following is an improper

fraction?

° Watch Video Solution

19. Which of the following is a fraction

ot ¢ 2‘?4(b)8()10(d)10
equivalent to — 7 — 6 (©) 58 B

° Watch Video Solution



https://dl.doubtnut.com/l/_zB1sQnsUlFAk
https://dl.doubtnut.com/l/_KRrVPYmIDi5j
https://dl.doubtnut.com/l/_3GarPMF9gV27

120. A fraction equivalent to — s

5 ° 542
572 1322 1) None of th
5_2 C 5;32 oneo ese

° Watch Video Solution

5 | . T 5
121. If — is equivalent to 37 then z = 1 (b)

12
4 5 3
g (c) § (d) g

° Watch Video Solution



https://dl.doubtnut.com/l/_s6zM5CdlT1R1
https://dl.doubtnut.com/l/_36vQHJkYHs9T

122. Which of the following are like fractions?

3 3 3 3 ) 5 7 15 2
5711’ 16 11° 11° 11° 11
2 3 6

—, —, é, — (d) None of these

3’4’57

° Watch Video Solution

123. If 1—1 = Z, then x = 28 (b) E (c) 44 (d)
4 T 28

308

° Watch Video Solution



https://dl.doubtnut.com/l/_z3CDeaWQid6d
https://dl.doubtnut.com/l/_hyeeaNWQ2aRM

1 1 7 12
124. + is equal to —- (b)

(1%) 17 P g9

1
4E (d) None of these

)

° Watch Video Solution

125|f1-|—1-|—1_4 th —75(b)
. § 5 ;—, enﬂj—.1—8

6 18 24
19 (c) 5 (d) 11

° Watch Video Solution



https://dl.doubtnut.com/l/_waHJcC8ULCYC
https://dl.doubtnut.com/l/_sMcI1k15ShBm

126If1 1—2th —Z(b)5()3
. 2+:13_’ ena:—5 2c2

d2
(d) 3

° Watch Video Solution

127. Which of the following fractions is the

rallep L 33 44 03 3 1
277’5799 5 72

° Watch Video Solution



https://dl.doubtnut.com/l/_QOC0jHzC2PHJ
https://dl.doubtnut.com/l/_EaELOURF3aTG

128. Which of the following fractions is the

t tfll?7 6 4 56(b)4()5(d)
greaesoa.§,7,g,g7 5 C 5
7
8

° Watch Video Solution

b 3
129. What is the value ofa+ ,if2:4? —
a—>b b 5
b) 2 (0 L ()2
3\ Y5 Yy

° Watch Video Solution



https://dl.doubtnut.com/l/_zTKbaqosN7Zh
https://dl.doubtnut.com/l/_t3aRq3AFYjyC

130. If 2 _ é, then the value of 6a + 45 is —1
b 3 6a — 5b
(b)3(c)4(d)5
o Watch Video Solution
1 1 4
BLIf—-— == —, thenz = —120 (b) —100
5) 0 T

(c) 100 (d) 120

o Watch Video Solution



https://dl.doubtnut.com/l/_AvzWpOCO5qAo
https://dl.doubtnut.com/l/_bsuavr9G6RFQ

1
132. The fraction to be added to 61—75 to get 83
44

11 1
is equal to = (b) 11—5 (c) 3 (d) 1

° Watch Video Solution

4
133. If —5 is equivalent to E, then x = 5 (b)
60 T

(4) () 6(d) 20

° Watch Video Solution



https://dl.doubtnut.com/l/_q0LXAaVLaeKc
https://dl.doubtnut.com/l/_8mNJLipMxnX8

: . 45 . 6 4
134. A fraction equivalent to 105 IS 11 (b) - (c)
5) 7
() —

7 (@ 5

° Watch Video Solution

5 3 [ 15 17 19
135. 3 + 1 1 iIs equal to: 91 (b) 1 (c) £
21
d) ==
(d) o1

° Watch Video Solution



https://dl.doubtnut.com/l/_iQGaWf0phaDw
https://dl.doubtnut.com/l/_yGRRW9mX0jhj

136. The correct fraction in the box

| 16 7 1
()is ()—g—zg(b)g(c)g(d)Noneof

these

° Watch Video Solution

137. A fraction equivalent to — is

2—-1 295 2+ 9

371935 V35

° Watch Video Solution



https://dl.doubtnut.com/l/_etQfkO9BDXiv
https://dl.doubtnut.com/l/_rVXzScC5rd2t

8 . 8+4

138. A fracti ivalent t b
raction equivalent to B IS T (b)
8 =4 — 4
(c) 8 (d) None of these
12 + 4 12 -4

° Watch Video Solution

139. A fracti ivalent t 0, 3(b)3(d)
. A fraction equivalen 04—5ISZ 3

2
3 (d) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_tw6qUBQKQVMd
https://dl.doubtnut.com/l/_w3GtOhyq38JP

140. Which of the following is a proper fraction?

3(b)5()12(d)N f th
s 5 (13 one of these

° Watch Video Solution

141. Which of the following is a proper fraction?

3(b)5()1z(d)N f th
: 5 (13 one of these

° Watch Video Solution



https://dl.doubtnut.com/l/_hJ0xhRC9sLkS
https://dl.doubtnut.com/l/_DVTvLhwDWWoQ

4
142, i)_S is an example of a proper fraction (b) an

improper fraction a mixed fraction (d) None of

these

° Watch Video Solution

143. Which of the following fraction is the

5 4 2 11 11 4 5 2
smallest? —, —, —, — — (b) — (¢) — (d) —
9°9°"9 9 9 9 9 9

o Watch Video Solution



https://dl.doubtnut.com/l/_OGvTrb6ooPDy
https://dl.doubtnut.com/l/_tH9He8Psm44i

144.Th llest of the fracti S 2.5 7
. e smailest O e Tractions g, §7 E, E,
7
— (b d
is ( ) — (C) ( ) — 10

° Watch Video Solution

3
145. If 7 is equivalent to 2i8’ then the value of

xis6(b)7(c)8(d)9

° Watch Video Solution



https://dl.doubtnut.com/l/_Kx9Hw4hqvpgK
https://dl.doubtnut.com/l/_B0tnu0M1Bc6B

3
146. If — is equivalent to —, then the value of
60 T

zis3(b)6(c)4(d)9

° Watch Video Solution

1471+1 3,th 7(b)z()4(d)
., —+ — =3 ,thenx = — — (c) =
3 T A T
8

3

° Watch Video Solution

|;:1.‘\frac{5}{7}

148. Javed was given



https://dl.doubtnut.com/l/_xrz2LinY9G2l
https://dl.doubtnut.com/l/_SHqKccJsmiLQ
https://dl.doubtnut.com/l/_qgqzT3KeTfcK

\ o Watch Video Solution

149. Reduce 84 /98 to its lowest terms.

o Watch Video Solution

3
150. The cost of a pen is Rs.lﬁ(g) and that of a

3
pencil is Rs. 4(2) Which costs more and by

how much?

° Watch Video Solution



https://dl.doubtnut.com/l/_qgqzT3KeTfcK
https://dl.doubtnut.com/l/_R7VMnsCakklw
https://dl.doubtnut.com/l/_lnaBXQHJrRIV
https://dl.doubtnut.com/l/_MJT8XkFfRHza

1 1 1
151. Simplify: 5— — 3— — 44
|mpn°y56 34+33+

° Watch Video Solution

152. Three boxes weigh
18

1 1
%kg, 7§kg and 103 kg  respectively. A

porter carries all the three boxes. What is the

total weight carried by the porter?

° Watch Video Solution



https://dl.doubtnut.com/l/_MJT8XkFfRHza
https://dl.doubtnut.com/l/_1LWfCcRep6jH

153. Arrange the following fractions in ascending

13 8 17 7

order: 725 755 547 1

° Watch Video Solution

2 1
154. Subtract the sum of gandg from the sum
5 7 4
f — —and—
o) 5 1o an 1

° Watch Video Solution



https://dl.doubtnut.com/l/_g1ijabofmhm5
https://dl.doubtnut.com/l/_ameKeurk9Pqs

1
155. Shika bought 75 litres of milk. Out of this

milk, 5Z litres was consumed. How much milk is

left with her?

° Watch Video Solution

156. Simpli '3—|-11—|-2 !
A Implfy. g § 1—5

° Watch Video Solution

2
157. Fill in the blanks: 7§ + =9



https://dl.doubtnut.com/l/_32nhLDdvUXGD
https://dl.doubtnut.com/l/_0BlxN3rZXmrk
https://dl.doubtnut.com/l/_n5xPtS9WXw08

° Watch Video Solution

1
158. Fill in the blanks: 8§ — = —

° Watch Video Solution

1 1
159.6— — 5— =
6 5

° Watch Video Solution

90
160. —— reduced to simplest form ......
108



https://dl.doubtnut.com/l/_n5xPtS9WXw08
https://dl.doubtnut.com/l/_us3dAgkFWkc7
https://dl.doubtnut.com/l/_0ydk5MD6fLSJ
https://dl.doubtnut.com/l/_gDyIxd7fh21j

° Watch Video Solution

2

° Watch Video Solution



https://dl.doubtnut.com/l/_gDyIxd7fh21j
https://dl.doubtnut.com/l/_RnwtfpDctRZS

